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Part One: Obligatory set
Using concepts and techniques (7 points)
1. A given country decided to adopt the principle of absolute freedom of individual initiative.

1.1 Explain, using a sequence, the positive effect of this principle on the economic situation. (1 point)
1.2 Mention a negative economic consequence of this principle. (0.5 point)
2. Differentiate between a tactical and a strategic decision by referring to two different characteristics.

(1 point)
3. Justify each of the following statements: (1.5 points)

3.1 Reducing the domestic exchange rate leads to an increase in economic growth rates.
3.2 Inflation contributes to a deficit in the trade balance.
3.3 The increase in interest rates on loans issued for investment contributes to higher unemployment rates.

4. An investor decided to build a factory for producing home furniture. After conducting a feasibility study of
the project, the following data was revealed: ( numbers in m.u)
- Land: 220,000 m.u. - Factory construction: 180,000 m.u.
- Feasibility study fees: 10,000 m.u. - Technical equipment: 50,000 m.u.
The annual operational expenses were estimated to be 60,000 m.u
The expected duration of the project is 4 years. Furthermore, a market study showed that the
expected value of the revenues will be as follows:

Years 0 1 2 3 4
Revenues - 50,000 100,000 200,000 400,000
Knowing that the annual interest rate is 10%, determine if the project is feasible. Justify your answer.
(1.5 points)

5. An enterprise specialized in the production of flour conducted an economic study regarding its costs of
production (in m.u.) and obtained the following information:

TC= 1.6 Q*+240Q+2000 where “TC” represents the Total Cost and “Q” the quantity produced in tons.

The relation between the market price “P” and the quantity produced “Q” is represented by:

P =3.6Q+200
5.1 Calculate the average variable cost and the marginal cost at the level of production of Q = 10 tons.
(0.5 point)
5.2. In case the price increases from 300 m.u to 420 m.u, calculate the price elasticity of supply.
Interpret the result. (1 point)

Part Two: choose one of the following sets
First choice set: Analyzing documents (12 points)
Document No. 1:

Farmers and workers in olive oil presses generally work with a modest level of cultural and technical awareness
due to the small number of graduates from schools and technical universities working in this sector. According to
the syndicate of the Lebanese workers in the Olive sector, the average age of the olive farmer is 59 years, and the
average age of 63% of olive farmers surpasses 55 years today; therefore, this age group shows the desire to rely
on traditional methods and reluctance towards technological change and skills improvement.

Production equipment attracts most of the international aids in a way that only limited resources remain for
building human capacities. Almost none of the few specialized training sessions provided to farmers are given to
the workers in the olive oil pressing sector. For that, the workers in olive presses remain in isolation from modern
cooperation methods among farmers, industrialists and suppliers, despite the importance of these methods in

achieving gains at the qualification level.
Source: Agriculture in Lebanon - Escwa



Document No. 2:

The agricultural sector reflects nowadays considerable diversity in terms of types of holdings (farms); the
organizational needs vary between small cultivated holdings that do not exceed one hectare in surface and those
of thirty hectares. Large holdings are generally competent, as they have the necessary skills and competencies to
handle the responsibilities of the supply, management and marketing of production.

Small and medium-sized holdings face many difficulties and often find themselves fully dependent towards their
economic environment for all stages of production. This is particularly noted for farmers who lack financial
capital and who secure their inputs through dealers who buy their production.

Moreover, there are also many small holdings that can be subject to reform and that, in case of reform, constitute
an important productive capacity for Lebanon. However, the current public debt does not allow this reform.
Financing the required funding necessitates the existence of investments that cannot be initiated except within the
framework of joint structural projects that are implemented and funded by the state and its institutional partners.

Therefore, a fiscal policy, aiming at orienting the mentioned funding towards this sector, should be reinforced.
Source: Components of the Agrarian policy — Website of the Ministry of Agricutulture
Document No. 3: Trade Exchange of the agricultural products

Year | Exports (thousand dollars) | Imports (thousand dollars)

2003 64,529 383,497
2004 82,493 440,850
2005 76,526 383,753

Source: Chamber of Commerce, Industry and Agriculture, Beirut- Lebanese Economy Report 2005
Referring to the above documents, answer the following questions:
1. By referring to the first paragraph of document no.1:

1.1 Extract two problems faced by farmers and workers in the olive oil presses. (1 point)
1.2 Specify a direct economic result for the two problems (0.5 point)
2-2.1 Document no.1 refers to a developmental problem that the agricultural sector is suffering from, conclude it.

(1 point)
2.2 Show the effect of this problem on the agricultural sector. (1 point)
3-3.1 Extract from document no.2, the reason that prevents the State from financing the reform of the small
agricultural holdings. (0.5 point)

3.2 Mention the reason that prevents the financial institutions from providing farmers with loans. (0.5 point)
3.3 Suggest a measure, within the fiscal policy, that the State might adopt to orient investors towards the

agricultural sector. (0.5 point)
4. By referring to document no.3:

4.1 Conclude the problem displayed. Justify your answer. (1 point)
4.2 Mention the effect of this problem on the Lebanese society. (0.5 point)
5. Show how the small size of the agricultural holdings mentioned in document no.2 contributes in worsening the
problem stated in document no.3. (1 point)

6. By referring to the above documents, write a text in which you specify:

- one problem from each document

- one appropriate measure to solve each problem

- one result for each measure while showing the effect of the combined results on the agricultural sector

(4.5 points)
Second set: Studying an economic subject (12 points)
Document:
(...) Towards the end of 2006, the growth rate of Lebanon decreased by 6 points and Lebanon lost thousands of jobs
opportunities that moved outside the country; moreover, Lebanon lost thousands of young men and women; it can be
said that losing two years of growth for a young and small economy (...) affects not only the present but also the
future of Lebanon and the vitality of its economy...
Moreover, the unemployment problem, that affected the Lebanese society, influenced negatively all of its aspects.
Source: 2007 Hluja 1 « gidl 52 a0 cddsn gl
Referring to the document above and your acquired knowledge:
- Extract an economic problem and a social problem facing the Lebanese society
- Mention the effects of each of the two problems on all levels: economic, social, demographic and financial.
- Suggest an appropriate economic policy, that does not have any negative implication, and three measures to
solve the two problems above

- Link between the combined measures and solving each of the two problems.

Remark: Clean and neat presentation (0.5 pt), Readable handwriting (0.25 pt), Style (0.25 pt)
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